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JAYPEE UNIVERSITY OF INFORMATION TECHNOLOGY, WAKNAGHAT
T3 EXAMINATION-MAY 2018
B.Tech (ALL. BRANCHES) VHI Semester

COURSE CODE: 11BIWMAR832 ' MAX MARKS: 35
COURSE NAME: Linear Programming and Applications
COURSE CREDITS:03 MAX. TIME: 2 Hrs

Note: All questions are compulsory. Carrying of mobile phone during examinations will be
treated as case of unfair means. Marks are indicated in square brackets.

Q1.(a) Solve the LPP graphically Max Z = 3x, + 2x,
s/t le + 4x2 < 200

-3xy + 5x, <150

5x; + 4x, = 100

8x1 + 4‘x2 = 80

XX, =0

- (b) Fmd basic solution and basic feasible solution of sy/%e «:;?i 2]
%ﬁ% 5 y
le + 3x2 — X3 + 4‘.7C4_ =8 :\ :?
[4]
B . i{@‘w’
W s/t Txqy + 2x, = 30
SX1 + 4‘.7C2 =20
2xy + 8x, = 16
Qj%%]%? theaasmgnment problem [3]
Machme/Jobs A B C D E
' 1 2.5 5 1 6 1
2 2 5 1.5 7 3
3 3 6.5 2 8 3
4 3.5 7 2 9 4.5
5 4 7 3 9 6
6 6 5 5 10 6




Q4.Solve the Transportation problem [7]
Source/Destination 1 2 3 Available
A 7 4 0 5
B 6 8 0 15
C 3 9 0 9
Requirement 15 6 8

Q5.Solve the PP using Gomory’s method
| Max Z = 4x1 + 3x;
sftxy +2x, < 4
2x+x, £6

X1, %y = 0 and Ine%ge?'?#%

Q6. Find the optimal sequence, elapsed time and Idle tm% for p}’é‘s&ng four jobs on 5

machines. The processing time is given as follows % @ “é%
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